Optic Position [urad]

4000

3000

2000

1000

—1000

—2000

—3000

—4000

—5000

—6000

H1 HAUX Alignment Offset Calibration; Pitch

created by alignmentrelief_Summer2014 on 07-Jul-2014 , J. Kissel

I I I )
L .
P ®
L . *' -
. - o _ -0
- . .
e -
- ’Q‘
- B , ¢ , ’,’ N S -
-
e g “’ -
) et et ]
’/ - -
7 -7
-7 ,:’ - ‘
- -
L NN R YN o % -
. PA P -
PR & -*
i A et |
-, - -
”” z - ’ -
% g
- -
- -
- -
. ‘
r ® [M1 Data
- el ® |M2 Data |
- ® |M3 Data
- ® M4 Data
- ’ -7 | = = = IM1 Fit: 0.196 [urad/ct] |
® - IM2 Fit: 0.214 [urad/ct]
. = = = |M3 Fit: 0.232 [urad/ct]
: : = = = |M4 Fit: 0.209 [urad/ct]
| | | | | I I
-1.3 -1 -0.5 o) 0.5 1 1.3

Offset Value [ct]

x 10

4



Optic Position [urad]

8000

6000

4000

N
-
o
o

—2000

—4000

—6000

—8000

H1 HAUX Alignment Offset Calibration; Yaw

I [ I
: _e
L , PR
: b d
X :
P z /’.
s P
| . . . s ]
-’ e
,Y -’ s ,’ .
P d P d
— e <. . )¢ . Py o o —
‘z” .,
’¢"‘ ,’ ¢:
P s i g
. P L P d . A
- 3 et e ]
-’ -, P
’¢" ”’ ’,"
g : ,’
4 -’ P
- @ P
L . , _|
[ 2 II’ -
P4 . P ’0
. e .
P e
AR AP ‘ !
| Py ® [M1 Data
8‘ - L€ ® |[M2 Data
¢ |M3 Data
P ® |M4 Data
- | = = =M1 Fit: 0.386 [urad/ct][]
IM2 Fit: 0.386 [urad/ct]
= = = |M3 Fit: 0.379 [urad/ct]
: : = = = |M4 Fit: 0.402 [urad/ct]
| | | | | T T
-1.3 -1 -0.5 0 0.5 1 1.3
Offset Value [ct 4
[ct] x 10

created by alignmentrelief_Summer2014 on 07-Jul-2014 , J. Kissel



